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Geugdlulweo/ CHEMISTRY
(s wpmib ymdle eufl / Tamil & English Version)
ST 6Ta] : 3.00 wenfl GEHrw ] [ Gwrgs wHOGuTSET : 70
Time Allowed : 3.00 Hours ] [Maximum Marks : 70

Sidlejemrset : (1) oaisg elamasensb sflurst uHeund 2 s craTugmean sNUMTESIS
QamérereyLd. FaLLSlele Gemulminler, ens sarsTanflliumerfid
2 Lanqungsd QsfeflEsey.
2 Beowd sdegy sBUY  owvlea wLLEGDL EWSMSHEWD
2 &CHNHaugHGL LWaIRSS G, LLRSE aumrausna
Queréled LweTLIRSS6D.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

@MUY : Csemeiwrer QL G UL wenrhg FwaUTHESmaT T(LPFaLD.

Note : Draw diagrams and write equations wherever necessary.
u@sl - 1/ PART -1

GOILY : () Siwengsl lamssEnsEn el welssayb. 15x1=15

(i) Car@ssLul@erar mrenE wrHm el seafer Wlaseyw THLenL W
eflenLenwis CoibOs05516 GHUSLBLer efler_ulenamnb Cairgg) erpseb.

Note : (i)  Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1. Qaeumeuaraupmer @wall Geartiiy, sl Senammuy pmib FEe sELIdmeRTUY
Qeariyseer Qararr(herer Gamow :

(<) NH; (<) NaCl

(&) NH,Cl (F) Qaupdled Fgidene

Among the following, the compound that contains, ionic, covalent and co-ordinate
linkage is :

(@) NHj (b) NaCl

() NH,C (d) None of these

2. eagdligen @CGetmenyeni. Biigs KOH 2 Lan cilenarui(BEgin Gurgl Qupuu®eug :

(<=1) urTLTIG-emam [®H (=1) &L Trevg.enam()
(@) feverwungemed () ergeSen Hevensbamed
Ethylidene chloride on treatment with aqueous KOH gives -

(a) formaldehyde (b) acetaldehyde

(c) glyoxal (d) ethylene glycol

3. qm podlwdy eryefear Qeuliublenad HMID sarsierey Q)@ WLhETES JH&M&EEGD
GuUITE) BiBE YTIDLI (PSS P -ufles wrmpid :

(=) P (2p)4P () 3P (/) 2P

If Temperature and Volume of an ideal gas is increased to twice its values, the initial pressure
P becomes :

(@ P (b) 4P (€ 3P (d 2P

4. msGaaflen QeaucuGeum eue Siamwliyseaier flenaliyg gearenwuier cuflens

(1) Qi > smiial > LODPSHD

(=) werpGEe > smiisa) > Gy

(@) wopsse > afldrdi > emiay

() emiey > alArdlir > wenmSHe

The order of stabilities of various conformations of Ethane are :

(a) Staggered > Skew > Eclipsed

(b)  Eclipsed > Skew > Staggered

(c) Eclipsed > Staggered > Skew
(d) Skew > Staggered > Eclipsed
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wdlow BE Baugaure Guiwb eanirrémsga Biss Bibsomrsgss
QUTERTL QDo oLt &ryanfl (i) iy ;

(1) 2 ()0 @) 3 () 1

Thot\ Van't Hoff Factor (i) for a dilute aqueous solution of the strong electrolyte
barium hydroxide is :

(@ 2 (b) 0 ) 3 d 1

QuenGsmis sfowgder erlga Qmuug,g‘,]sh Ly

(<=4) —7223 KJ mol~! (<=t,) —2237 kJ mol !
(®) —2327 kJ mol~1 (rF) —3227 kJ mol~!
The value of the heat of combustion for Benzoic acid is :

(@ =7223 k] mol~? (b) —2237 kj mol 1
() —2327 k] mol~1 (d) —3227 kj ol 1

GCemqwib erdled CafssliLBEng ?

(1) B ' | (=) werQ e Qe
(8) Aposanrad : () Qeupiled ergificrenen
Sodium is stored in ; A

(a) Water - (b) Kerosene

(c) Alcohol (d) None of these

YereumeuaTeupmier 6rg) gafl &pOmIb LaTLenLwig ?

(S1) BGer LrrLmfé Sibleb (=) 3-@CerrCrr QuenGLén

() GEnrsCsamav () 2-@CearnCrr yCrriCuer
Which of the following is optically active ?

(@) Meso-tartaric acid (b) 3-Chloropentane

() Glucose (d) 2-Chloro propane
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9.

10.

11.

12.

Gpi@H erediyren priL wHiGeer QuppETeTd saflow :
(=) Yfrsmen (<) el rmen (@) sl () Gamigwid
The element with positive electron gain enthalpy is :

(a) Argon (b) Hydrogen (c) Fluorine (d) Sodium

i@l eTerr 105 2 el w gmiedle) o drer arisamar eravslyrerser (n+l)=8 GTeTm
wHilbener Qup Wb ?

(1) 15 (<) 30 .

(@) Srwraflss @werg (rF) 17

How many electrons in an atom with atomic number 105 can have value of (n+1)=8 ?
(@) 15 _ (b) 30

() Unpredictable (d 17

-

Gereumeuameupmer WCen@wfs ellareraiing o L uLrg Gaiob erg) ?

+
(<) CgHNH, (<) CH5OH (8) cHsNH; () CgHiCl

Which of the following species does not exert a resonance effect 7

+
(a) CgHgNH, (b) CH,OH (© CeHsNH; (4 CeHsCl

19 6761 (T GU GOTGU D M) 6T ageiatlevr (C,H,) amemmliiuiBib a;rrr'ru_ein 5561558 swwreT
sriue ssaisgms QuUDmIETETS 6Tgl ?

(1) Quenden - () Yriiden (@) m&Cpem () Fgenge
Which of the following compound has the same percentage of Carbon as in Ethylene (C,H,) ?

(@) Benzene (b) Propene (c) Ethane (d) Ethyne
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@Camen UL S| e (heursEEeug) :

(1) 2 QuEESLD (<) BTG &
(@) 25 QQJL.JLILDUJI.DngG'D () @nﬂ'ﬁ@(‘;unﬁm
Ozone depletion will cause :

(a) bio-magnification (b) forest fires

(c) global warming (d) eutrophication

N, +3H, =2NH ; . Kc _
20) 20) 3) erenip ellenemulenr —C = 7

8 Kp
(1) RT (@) = (@) ®T? (%) JRT
E—i— for the reaction,

N, +3H, —2NH, is:
29 2g) 3

(@ RT ®) RT (© (RT)? (d)  JRT

Samm) : siaen Beny sweeus Gemirai e eflaariL@Sgeusen epalb, DB e
Blrpsré sigeans senanulanei Fésemb.

SITJETITLD soemeu GerLm, syer o sorbgdaer sroflwb, Quseatdlwub

GGarrerrh whHmL sLCGUL&ERL 6 dlemaryfitgy sorurg
, sTiuGar_(hsmer 2 (HaursEEng).
(21) sadgy sflwireng), <yenred) SERID SeuDTRTZ.
(=) Spmy P srrewmd Qram@n &f, LHMID Srrewb, FanmIsE sflwren
edlar&sLomegb.
(8) sapmy wHHID SMEmIDL GraT@dLn Seu.
(FF) Sapdmy LHMID &rysvd Qrer@n &M, Syamred sryewd, SapH@E &flwimer

eflaTéswde, |
Assertion : Permanent hardness of water is removed by treatment with Washing soda.
Reason : Washing soda reacts with soluble Calcium and Magnesium chlorides and

sulphates in hard water to form insoluble carbonates.
(a) Assertion is true but Reason is false.
(b) Both Assertion and Reason are true and Reason is the correct explanation of Assertion.
() Both Assertion and Reason are false.

(d) Both Assertion and Reason are true but Reasbn is not the correct explanation of
Assertion.
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GOy : eemauCugnbd g NarssE5sG DepweflGsayb. e eramm 24 -&g,

u@H - 11 / PART - 11

. . . 6xz=12
SLLmuwns aflerLweflEsa)ib.

Note : Answer any six questions. Question No. 24 is compulsory.

16.

17.

18.

19.

20.

21.

22,

23.

PuY g Bl — cuerpumissa.
Define Relative Atomic Mass.

Capwsetuisdler Heswwpn serenn CamumlamLé samné.

State Heisenberg’s Uncertainty principle.

epeTn ueswrer FsliGeariiy eanl erRsamats GHiLAHs.

Name the three types of covalent Hydrides.

@@ auryaler sarsiare) wHmb Cuoraame QsrLiyu@sgib saflgwpeann
UMUIUTL g 0TS (5.

Give the Mathematical expression that relates gas volume and moles.

Qeuiu Quissellwelen epemmmb aflfeow sams.
State the Third law of Thermodynarnics.

LISRIGLONGE) GTEMITE) GTEN6s ?

What is Sublimation ?

ST eNeneTey ETEIDTe) creme ?

What is Inductive effect ?

peflliyens — eUeNTLMIGSa|LD.

Define Smog.
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24. NH,, N, wppid H, gfweupher s Heows Cofoysar wepGu 1.8x10-2 M,
12x1072M wpgid 3x1072M. N, wpgib H, -eAedmpe NH; e peun@id eflenans,
sw fleve wrPelben wHUGmens sreas.

The equilibrium concentrations of NH,, N, and H, are 1.8x10"2M, 1.2x10"2 M and
3%1072 M respectively. Calculate the equilibrium constant for the formation of NH; from

N, and H,.

www.Padasalai.Net

@S - 111 / PART - III

GOy : aemaCueid S demssErss e walsaayb. ofenm e 33 -&@
sLLmuwns eflenLweflésayLb. 6x3=18

Note : Answer any six questions. Question No. 33 is compulsory.

25. Yeraumpauareupdler UL epassmy Heopulmands sarsf(hs.
(i) eggemmer (C,H;OH)
@) GEpsGae (CoH,04)
Calculate the relative molecular mass of the following.
(i)  Ethanol (C,H;OH)
(i) Glucose (CgH;,0¢)

26. GTOSLIIEN Seuigeenlosamen Lmeih wperpullen gL el &HHESNS SFeyib.

Briefly give the basis for Pauling’s Scale of electronegativity.

27.  UTYT AL TRenaT, 24 T5CHT MADLT@RENTs ereueurm WrHmeumil ?

How do you convert para hydrogen into ortho hydrogen ?

28. a=0eremp euraTLIr eumaba omflallenws Cema eurwjellenan Hreuorés wpigujor ?
eSleufl.
Can a gas with Vander Waals constant a=0 be liquefied ? Explain.

29. Glanenfl efdudetr eubLEET WTene ?
What are the limitations of Henry’s law ?

A [ $imLiys / Turn over
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30. swellGeeriiGgider sst@maniiLg satawaw oHlasEs.

Explain the covalent character in ionic bond.

31. wrpBwib (Isomerism) TEAMTED GTEHAT ? BIFET UMEHDETE FaI.

What is Isomerism ? Give its types.

32. @CemmGyr Quenfafler LwengeT wreney ?

What are the uses of Chlorobenzene ?

33. geller yearallwowld BsCsar wpmb GGarmiien B Gu Aawbd sadd
Aenar&aren FWETLTHSEMET CT(LHSIS.

Write the equations for the chain reaction between Metharie and Chlorine in the presence of
light.

u@s - IV / PART - IV

GO : Jmengs NamssEsEh el uiaissea. 5x5=25

Note : Answer all the questions.

34. (=) () Cuwrer sear Sere| ~ aeyum.
(i) Gunri sigm wrHfivier eurbyser wrene ?
S{6VEVF)
(=) () Capagasdr gy salgCapilurs Cawuou@Beug ger ?.
(i) Qsr@Hsar wHHID auflessalled craslyren saursearanouiiey erpuRIb
S AUTEHE! LOTHDEISEETE Fnlis.
(a) (i) Define Molar Volume.

(i) What are the limitations of Bohr’s atom model ?
OR

(b) () Why halogens act as oxidising agents ?

(i) Statethe trendsinthe peﬁodic variations of electronegativity in Groups and Periods.
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35. () srodlwb LOHOILD Qmésm?é)u,isﬁs&r e WAwe waHuggeugams eleufl. |
ALV

(=) Cemquin &Cetreny B Uy ssdlen LgEsE @B Do sars&slB0 weapnips
Peperw ellars s,

(@)  Describe briefly the biological importance of Calcium and Magnesium.
OR
(b) Explain an indirect method to calculate lattice enthalpy of Sodium chloride crystal.

36. (=1) & srlewi Qsraransufeant vwertu®sH FoBlaoulier g Spsdr
smyefleeT erouBSsin LTHDSMNS 6Sl6mdEs.

i) OGedley
(i)  Sissw
(i) Qeutiuflera
(iv) elenanCeus rH)
(v) opg eumy
SleV60g)

(<) Areteb alfemws vwearL(Gsd HrausHed Hrougmss QaramL @ s
sengsadlen el Di(WPSSSEDETE FGUT L aumed.

(a) Using Le-Chatelier’s principle explain the effect of the following factors on equilibrium.

(i) Concentration
(i) Pressure

(iii) Temperature
(iv) Catalyst

(v) Inert gas
OR

() Derive the expression for vapour pressure of binary solution of liquid in liquids»using
Raoult’s law. '

E [ $muiys / Turn ov'érj
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37. (21) O, pésan 2 (haursme apOEsmD TG LId (MO) Gsmarams epawd
ULSgILen elleTdsayib.
SI6060F)
(=) () Gemeumb CairwrisEnéE TUPAC weonuid Quui®s.

(I) CH3—-CH2—(IZH—CHO
OH

(I1) CH;~C=C-CH-CH,
cl

(i) A womd B -enw serr(Hg.

Pt/H, "

(D

OH

KaCry07
—— B

(In) H,504 :

OH

(a) Discuss the formation of O, molecule using Molecular Orbital (MO) theory with diagram.
OR '

(b) (i) Give the TUPAC names of the following compounds.
() CH3-CH,- ?H ~CHO
OH
@) CH;-C=C-CH-CH;
cl
(i) Identify ‘A’ and ‘B'.

OH
K;Cr,07 > B
() H,504
OH
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38. Que . ,
(1) Quenéenen Spsa Cotomisenrs ereueuTl LMHmIeUT ?

@)  @CemGyrr Quengen
M)  euererw QapsGsar
(i) Qs wufen
CATMVE
() Qereumeuen L Ay GHLY uerrs,
0 rmey apenp
() Ger apenp
(i) eSevelwibsefas e QemELiy
(2) How will you convert Benzene to the following compounds ?
(i) Chloro benzene
(i) Cyclohexane
(iii) Maleic acid
OR .
(b)  Write short notes oﬁ the following.
@)  Raschig process
(i) Dow’s process
(i) Williamson’s Ether synthesis

-00o0-
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